McCall, Betsy Math 1020, Exam #1

Math 1020, Exam #1, Fall 2013 Name KE Y

Instructions: Show all work. Use exact answers unless specifically asked to round. Problems with no
work cannot receive partial credit.

1

For the numbers in the set {%, —11,4,64,-6.75,14000, /19, nz,g, 0.69, % }, determine

which of the numbers belongs to each of the number types below. (20 points)
a. Natural Numbers

;‘/, m) [4000, 13‘2%

- 2 e
g “} q; m; ,*OOO, 2 (¥ & %
c. Rational Numbers J—

o
d. Irrational Numbers

2V, mP}

b. Integers

(3+4) +5 =3+ (4 + 5) is an example of which property of real numbers? (4 points)
ﬂAﬂA&LiﬁE%}DW7w£9[ /%thdd;ﬁh43

Simplify the expression. (6 points each)
a. 3(4q+1)—-2(5q-9)

Iaz+3 - )05—48
JZV-“S-

b.%@k—®+§@~1%)
2k -3 + 46— 8k
- bk 3
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. Axy-2z2
4. Evaluate the expression forx=1,y=-2,z2=3.(7 points)
3xz+y3

HODE) - Ay -2 -2@ | -8~

= —26
303 + (-2)* 1+ () \

5. Explain why division into zero (ex. g) is equal to zero, but division by zero (ex. %) is not defined.,

(6 points)

if X=2 Thew Tha o rehadid f The pundbiplicdoon
Gquilion Bx=0. What 4mis 3 & tgeadto OF Juot 0.

but if X222 i o relalid o The mudlyppTicadem
Pﬂé&'& O-xX=3 o 0O=3 whch o & Cohadiai
WWW&WM@L3

2 sp A 2
6. Simplify the following expression as much as possible, (u(?—;ﬂl—)) (7 points)

(lb;‘ze)‘,__ (%‘2_ (af: L
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7. The following problem below has at least|one error in it (possibly more than one). Find the
error(s), explain why they are wrong, and solve the problem correctly. (15 points)

1 1
— 8 —_ —_—— —_—
4( x—12 6(18x 24)

w 1 1
A7 12[1(8x— 12) — —(18x — 24)
nob allaoed Suwes 3(8x - 12;—/2(61‘8;\—'24)
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2%~ 3 ~ (3% - %)
2% -3~ 3¢ +Y

- X +|

8. What is the difference between “simplifying an expression” and “solving an equation”? Are
there some things you can do in one of these that you cannot do in the other? (10 points)
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9. Solve the equations. (8 points each) & 3 \ IS
19 2 1 19 ., -, -
& ?x+£=“§X‘E)4S‘ \-”‘:'%" "iax'% ):%(*

Now =-28 _._
1S X +:> = - \S‘y«:ll o o
= - ()(':-_.5—-
ISx = ~ ISy =2% Lot
[(IOX = -2%
b.(z"7"9—1:§x33|
3 ] 5
a"“ . - N "‘"
?j\( *_a - at\ AR -30= 22%

Z-{— 22
5(2)‘“‘2) -2\ = ':(“""ﬁ /:__52 = Y
bt ~9=-21 = 28 ¥

bx -30 = 2&¥%
—b¥x — bx

10. Below are three solved linear equations. Fér each one state the solution set, and whether the
equation is an identity, a conditional equation, or a contradiction. (6 points each)

3(x+4):2x+7(x—1)
3Ix+12=2x+7x~7
3x+12=9x-7

a  —6x+12=-7
—6x =-19

= 0o T ‘0“6@“
S
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6(x—2)+11:4(x—1)+2x
6x—12+11=4x-4+2x
6x—-1=6x-4

~l=-4 ccy\“'mm

X, haw no <€ eludcon
Vol

%(2x+22)—1=3(x+9)—-(2x+17)

fo(uatdzl
X v adl resd nowmdocs

11. The two rectangles in the picture have the #ame perimeter. Solve the equation 2x +
2(x+5)=2 G x) + 2(x + 6), then find the dimensions of both rectangles. (12 points)
|

. x+11-1=3x+27-2x-17
x+10=x+10

2Rt 2% 1410 = X t2%+I% i
e tlo = B 4+12 # & &by F
-0 - 10
I = e+
-—3)( - 3Iv x+6
1
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12. (Bonus question) Simplify the expression. (8 points)

! (21 15)74
37'%/18's
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